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1. Your company’s network consists of your headquarters location plus several dozen remote offices.
Remote office users are often unable to access data housed in the headquarters data centerdueto
connectivity issues. You must update the network to provide reliable access to corporate assets for remote
office users. 

Which technology is critical to your design project? 

A. IPsec 

B. WAN acceleration 

C. WAN aggregation 

D. QoS 

Answer: A 

2. Your customer is a government organization with strict security requirements. They want to expand their
Layer 2 infrastructure between multiple buildings within the same campus environment. They also want to
ensure that no unauthorized devices are connected between the switches in the different buildings. 

Which solution ensures data security in this environment? 

A. Use PNAC on all inter-switch connections. 

B. Use LLDP on all inter-switch connections. 

C. Use LACP on all inter-switch connections. 

D. Use MACsec on all inter-switch connections. 

Answer: A 

3. Virtual Chassis solutions for large campus networks are designed to eliminate the requirement for which
protocol? 

A. SNMP 

B. IPv6 

C. OSPF 

D. STP 

Answer: D 

4. A hospital has issued an RFP for a full network refresh. The RFP focuses on the users, applications, and
bandwidth. 
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Which two realistic assumptions would be inferred about this network? (Choose two.) 

A. Regulatory requirements must be considered. 

B. Network downtime will not be tolerated. 

C. WiFi services must support video. 

D. Quality of service (QoS) is not necessary. 

Answer: A,B 

5. In reviewing the customer’s IT organization, you must determine the corporate model for IT funding. 

Which two models would you encounter in this scenario? (Choose two.) 

A. direct revenue model 

B. cost center 

C. profit center 

D. investment center 

Answer: B,C 

6. Which two mechanisms allow administrators to authenticate on a Junos OS device? (Choose two.) 

A. Active Directory 

B. TACACS+ 

C. LDAP 

D. RADIUS 

Answer: B,D 

7. What is the maximum length recommended for a single cat6E cable? 

A. 328 feet (100 meters) B. 1000 feet (300 meters) 

C. 3280 feet (1000 meters) 

D. 100 feet (30 meters) 

Answer: A 
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8. What are two features used to enable high availability? (Choose two.) 

A. VRRP 

B. chassis clustering 

C. full duplex mode 

D. SNMP 

Answer: A,B 
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